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Note : This paper is of forty (40) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

[k.Mksa ^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks 

bu [k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa 

ds mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of nine and half (9
1

2
) marks each. 

Learners are required to answer two (02) questions 

only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s ukS (9
1

2
) vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What do you mean by biogeochemical cycles in 

Ecosystem ? Explain with example. 

ikfjfLFkfrd rU= ds vUrxZr [kfut iks”kdksa ds 

tSo&Hkw&jklk;fud pØ.k ls vki D;k le>rs gSa \ mnkgj.k 

nsdj crkb,A  

2. Define the term plant succession. Explain in brief the 

process of succession on barren rock.  

vuqØe.k ‘kCn dh ifjHkk”kk nhft,A fdlh [kkyh iM+h pV~Vku 

ij vuqØe.k dh fØ;k dk o.kZu dhft,A  

3. Define the term medicinal plants. Discuss the 

distribution, plant characters and uses of any two 

medicinal plants.    

vkS”k/kh; ikni ‘kCn dks ifjHkkf”kr dhft,A fdUgha nks vkS”k/kh; 

ikniksa ds forj.k] ikni y{k.k ,oa mi;ksx ds ckjs esa crkb,A  

4. Explain the origin, botanical characters, cultivation and 

uses of cotton.    

dikl dh mRifŸk] okuLifrd y{k.k] mxkus ds rjhds ,oa 

mi;ksxksa ds ckjs eas foLrkj ls crkb,A  
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of four (04) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, pkj ¼04½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Explain in brief about various factors influencing earth 

climate.   

i`Foh dh tyok;q dks izHkkfor djus okys dkj.kksa dks laf{kIr 

esa crkb,A  

2. Differentiate between hydrophytes and xerophytes 

with example.   

tyksn~fHkn~ ,oa e#n~fHkn~ ikS/kksa esa mnkgj.k lfgr vUrj 

crkb,A  

3. What is food chain ? Discuss its types.  

[kk| Ük`a[kyk D;k gS \ blds izdkj crkb,A  

4. How biological fixation of nitrogen takes place ? 

ukbVªkstu dk tSo ;kSfxdhdj.k dSls gksrk gS \ 

5. Define Beverages. Discuss uses of tea and coffee.  

is; inkFkks± dks ifjHkkf”kr dhft,A pk; ,oa dkWQh ds mi;ksx 

ds ckjs eas crkb,A  
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6. Give a brief note on clove and mentha.  

ykSax ,oa fiijfeUV ij laf{kIr fVIi.kh fyf[k,A  

7. Write down any three varieties of maize.   

eDds dh fdUgha rhu fdLeksa ds uke fyf[k,A  

8. Discus in brief about the processing of coir.  

Dok;j ¼ukfj;y½ dh lalk/ku fof/k ij laf{kIr fVIi.kh 

fyf[k,A  

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of half  1

2
 mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk  1

2
vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the right answer : 

lgh mŸkj dk p;u dhft, % 

1. Succession on sand or around sandy area is called :  

(a) Mesosere  

(b) Xerosere  

(c) Hydrosere  

(d) Psammosere  
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ckyw ds <sj ij ;k ckyw okys LFkku ij gksus okys vuqØe.k 

dks dgrs gSa % 

¼v½ e/;Øed 

¼c½ e#Øed 

¼l½ tyØed 

¼n½ ckywØed 

2. Radiant energy is used in :  

(a) Primary productivity  

(b) Evapo-transpiration  

(c) Flowering of plants  

(d) All of the above  

fofdj.k ÅtkZ dk mi;ksx gksrk gS % 

¼v½ izkFkfed mRikndrk esa  

¼c½ okLiu ok”iksRltZu esa  

¼l½ ikS/kksa ds iq”iu esa  

¼n½ mi;qZDr lHkh eas  

3. Botanical name of jute is :  

(a) Cannabis sativa  

(b) Linum usitatissimum  

(c) Corchorus capsularis  

(d) None of the above  

twV dk okuLifrd uke gS % 

¼v½ dSukfcl lSVkbok  
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¼c½ ykbue ;wflVSfVflee 

¼l½ dkSjdksjl dSilqySfjl  

¼n½ mi;qZDr eas ls dksbZ ugha  

4. The botanical name of black pepper is :  

(a) Capsicum spp. 

(b) Curcuma domestica   

(c) Elettaria cardamomum  

(d) Piper nigrum  

dkyh fepZ dk okuLifrd uke gS % 

¼v½ dSfIlde iztkfr 

¼c½ djdqek MkSfeLVhdk  

¼l½ bfyVhfj;k dkMkZeksee 

¼n½ ikbij ukbxze 

5. Rubber is obtained from :  

(a) Cell sap  

(b) Gum 

(c) Resin  

(d) Latex 

jcj izkIr fd;k tkrk gS % 

¼v½ dksf’kdk jl ls 

¼c½ xksan ls 

¼l½ jsftu ls 

¼n½ ysVSDl ¼jcM+ {khj½ ls 
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Indicate True or False : 

lR;@vlR; crkb, % 

6. Pyramid of energy is always upright. (True/False) 

ÅtkZ dk fijkfeM lh/kk gksrk gSA  ¼lR;@vlR;½ 

7. The study of only one species is called community. 

(True/False) 

dsoy ,d gh iztkfr ds v/;;u dks leqnk; dgrs gSaA  

    ¼lR;@vlR;½ 

8. Essential oil is obtained from the wood of Santalum 

album.   (True/False) 

lSUVye ,yce dh ydM+h ls lqxfU/kr rsy izkIr gksrk gSA  

    ¼lR;@vlR;½ 

9. Botanical name of green gram (mung) is Phaseolus 

aureus.   (True/False) 

ea¡wx ¼xzhu xzke½ dk okuLifrd uke QSflvksyl vkSfj;l gSA  

    ¼lR;@vlR;½ 

10. Quinine is obtained from the bark of Cinchona species. 

(True/False)  

D;wuhu fludksuk iztkfr ds ikS/ks ls izkIr gksrk gSA  

    ¼lR;@vlR;½ 
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